(PERHITUNGAN)



PerhitunganLajuAlirProdukReverse Osmosis

1. Pada P = 0.2 Mpa = 20 Bar
v =500 ml =0,5 Liter
t=230s=0,0638 Jam

vV 0,5 liter liter

¢ t 0,0638jam ' jam

2. Pada P = 0.3 Mpa = 43,5114 Psi
v =500 ml = 0,5 Liter
t =162 s = 0,045 Jam

vV 0,5 liter liter

=—=—=11,11
¢ t 0,045 jam "7 jam

3. Pada P = 0.4 Mpa = 58,5114 Psi
V =500 ml =0,5 Liter
t=113,5s5=0,0315 Jam

_ vV _ 0,5 liter — 15873 liter
0= t 00315jam 7 jam

4. Pada P =0.5 Mpa = 72,519 Psi
v =500 ml = 0,5 Liter
t=955=0,0263 Jam

_ vV _ 0,5 liter _ 19011 liter
0=%= 0,0263 jam " jam




PerhitunganLajuAlirRejeksiReverse Osmosis

5. Pada P = 0.2 Mpa = 20 Bar
v =500 ml = 0,5 Liter
t=92s=0,0256 Jam

B vV B 0,5 liter — 19531 liter
0=+= 0,0256 jam "7 jam

6. Pada P = 0.3 Mpa = 30 Bar
v =500 ml =0,5 Liter
t=74s=0,0205 Jam

B vV B 0,5 liter _ 24390 liter
0=%= 0,0205jam ~ 77 jam

7. Pada P = 0.4 Mpa = 40 Bar
V =500 ml = 0,5 Liter
t=64s=0,0177 Jam

_ vV _ 0,5 liter — 28948 liter
0=:= 0,0177 jam ~ 7" jam

8. Pada P = 0.5 Mpa =50 Bar
v =500 ml = 0,5 Liter
t=585=0,0161 Jam

_ vV _ 0,5 liter _ 31 056liter
0=%= 0,0161jam ~ " jam




PerhitunganFluksPermeatReverse Osmosis

9. Pada P = 0.2 Mpa = 20 Bar
v =500 ml = 0,5 Liter
t =230 s=0,0638 Jam
A=33m

_ vV _ 0,5 liter _
At 3,3m2 0,0638jam

Q

10. Pada P = 0.3 Mpa = 30 Bar

v =500 ml = 0,5 Liter
t =162 s = 0,045 Jam
A=3,3m

V 0,5 liter

Q

11. Pada P = 0.4 Mpa = 40 Bar
V =500 ml = 0,5 Liter
t=113,5s=0,0315 Jam
A=33m?

vV 0,5 liter
Q J— J—

At 33mZ.00315jam

12. Pada P = 0.5 Mpa = 50 Bar
v =500 ml = 0,5 Liter
t=955=0,0263 Jam
A=33m?

vV 0,5 liter
Q J— J—

At 33mZ.0,0263 jam

=4t 33m2.00457am >

liter

m2. jam

liter

m2. jam

liter

m2. jam

liter

m2. jam



Perhitungan% RejeksiReverse Osmosis

13. Pada P =0.2 Mpa = 20 Bar
Cp = 0,28 ppm
Cf=28,15 ppm

)

8
)x 100 % = 96,6 %

Cp
%R=1——x100%=(1—815

cf
14. Pada P = 0.3 Mpa = 30 Bar

Cp =0,24 ppm
Cf=28,15 ppm

)

4
)x 100% =97,1%

Cp
%R=1——x100%=(1—815

cf

15. Pada P = 0.4 Mpa = 40 Bar

Cp =0,22 ppm

Cf=8,15 ppm
%R =1 —C—px 100 % = (1 —%>x 100% =97,4%
0 Cf 0 8,15 ’

16. Pada P = 0.5 Mpa =50 Bar
Cp =0,21 ppm
Cf=38,15 ppm

)

1
)x 100 % = 97,5 %

Cp
0 = 0/ —
R =1 CfxlOOA) (1 815



(GAMBAR)



WATERPROOF

=T '
AlatAnalisa Air Waterproof Instrument



HaS|IAnaI|saSampeIProdukdanRejekSIpadaTekanan 30 Bar



HasiIAnaIisaSampeIProdukdanRéj-eksipadaTékanan 50 Bar





















